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Alexandriumspp.: 110
D. fortii: 0
D. acuminate: 20
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Alexandriumspp.: 100
D. fortii: 20
D. acuminata: 90

Alexandriumspp.: 30
D. fortii: 0
D. acuminata: 40

Alexandriumspp.: 50
D. fortii: 10
D. acuminata: 40
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Alexandriumspp.:20
D. fortii: 0
D. acuminata: 0
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Alexandriumspp.: 10
D. fortii: 0
D. acuminata: 0

Alexandriumspp.: 90
D. fortii: 10
D. acuminata: 20
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BETS5 B (cells/L)
AR S IKiE Kig B Alexandrium s Dinophysis
(°C) PP D. fortii D. acuminata F DD Dinophysis
Om 13.80 2748
F 110 0 20 0
i 5m 10.95 33.36
Om 12.30 31.03
@=AE 5m 10.26 33.14 100 20 90 0
10m 10.07 33.34
— Om 12.66 31.70
iy 30 0 40 0
O=viR 5m 10.21 33.24
Om 10.70 32.90
OF=F" 5m 9.90 33.28 50 10 40 10 D. rudgei
10m 9.34 33.57
B 10m - - 10 0 0 10 D. rudgei
®KiR 10m - - 20 0 0 0
Om 11.87 30.95
DXt 5m 9.86 32.94 90 10 20 0
10m 9.75 33.23
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